1.1 - Adding, subtracting, multiplying and dividing

Key Concepts

To add and subtract — use column method and line up the hundreds, tens, units, tenths, hundredths etc.

When multiplying decimals remember the answer should have the same number of figures after the decimal point as the
number of figures after the decimal point points in the question.
When dividing by decimals remember to keep multiplying both numbers by 10 until the number you are dividing by is an
integer, then use the bus stop method or long division.
Positive x positive = positive, positive x negative = negative, negative x negative = positive, negative x positive = negative.
Positive + positive = positive, positive negative = negative, negative negative = positive, negative positive = negative

\

(Examples N I h p EE——
Don’t forget to carry over: when Questions: Resources:
adding and to borrow when 1a)7.46+8.75 b)34.45+23.68+3.79 c) 2.32-1.78 d) :
subtracting: 232.14-89.55
HTO H l' o MyMaths — Number -
4 22 ‘g1 2 2a)4.6 x5 b)3.46x5.32 ¢)452x0.2 d)34.1x0.11 Add/Subtract written:
+ ; g ? B ; : i 3 Adding in columns
11 3a)424+02 b)45520.05 c) 56.4+:1.2 3 Subtraction columns
i:iijz_:gii.zs 4a) 9x12 b) -9x13 c)-8x-10 d) 14x—7 e} -15x-16 g’e\fc"lﬂn:;'l‘: Number -
4.66x9.2=42.872 \ y, 4 multiply two decimals
6 dividing a decimal by a
32.8+0.8 (x10) decimal
= 328 + 8 = 41 (use bus stop
method) orz- (2 86- (p 08 (0 /11- (9 80T (E¥ Corbettmaths
ty(o 016 (9 Zrz(ee Videos 206 and 207
7x8=56 7x-8=56 1selp w060 zLovsT (g €2 (BT
7x -8=-56 -7x8=-56 652wl (P 750 (° 68719(q TroT(ET https://corbettmaths.com,
64+8=8 64 +-8=8 Siamsuy contents/
64+-8=-8 -64 +8=-8

N

[ 1.3 — LCM, HCF and prime factor decompostion

Key Concepts

A Multiple is in the times table of a number.

A Factor is a number that divides exactly into another number.
A Prime number has only two factors, itself and 1. 1 is not a Prime number. 2,3,5,7,11, 13, 17 are the first 7 Prime numbers
The Lowest Common Multiple, LCM, of two numbers is the smallest number that is a multiple of both numbers.

The Highest Common Factor, HCF, of two numbers is the largest number that is a factor of both numbers.

Prime factor decomposition is a number written as a product (multiplication) of Prime numbers.

(- N\ 7 N R ™\
. esources
Examples Questions:
Find the LCM of 3 and 4
3,6,9,12,15 MyMaths —
4,8,12, 16, 20 Find the LCM of: 5&6, 7&8, 9&10 Number —
LCM is 12 Powers and
Find the HCF of: 9&12, 15&20, 12&16 roots -
Find the HCF of 18 and 30 Lowest
Factorsof 18:1,2,3,6,9,18 Write out the prime factor decomposition of 60 Common
Factors of 30: 1,2,3,5,6,10,15,30 Multiple
HCFis 6
\_ ) MyMaths -
Prime factor decomposition of Number -
75: 175\ — :z:tirs and
3 : SXEXTXET -
/25'\ 5 € ¥ Highest
5 5 \ /4
s[\ /z 06 ‘95 ‘0t Common
ot s1amsuy Factor
Ix5x5 09
ave? \_________J

[ 1.2 - Squares, cubes, roots and order of operations

Key Concepts

The symbol 2 means square — to square a number multiply the number by itself.
The symbol v means square root, numbers have positive and negative square roots.
The symbol ® means cube. Multiply the number by itself then by itself again.

The symbol *¥ means cube root.

BIDMAS: Brackets, Indices [powers and roots), Division, Multiplication, Addition, Subtraction.

(- N ™~
Examples Questions:
Dxl-1%-1, vi-1,-1, 1. Write out all the square numbers from 1% to 162 Resources
2x2=22=4, V4=2,-2 <o aL : MyMaths -
3x3-3<9, V9<3 -3 2. Write out all the pairs of square roots of the Number -
square numbers from 1 to 100. Powers and
1x1x1=13=1, 3vi=1 3. Write the cube numbers from 12 to 5. Roots — Squares
2x2x2=2%=8, 3v8=2 and Cubes
3x3x3=3=27, 3v27=3 Evaluate:
MyMaths —
4,42+v36-2 5.V100+°V8 6. (12-3%)x4 ylats
(20 -3?)x 4 Number — Order
=(20-9)x4 of Operations
C11x4-44 7.(11-v9)x (12-3x2) 8.20-v(9x4)
\. J .
24:(12-2x4)
=24+(12-8) vI°8 8y L 79 [4RRE 0T v
=24:4=6 STT'P9 /'8t g
0I-01'6-6'8 8L L'99'SS v e €T T 1T T
v(30+6)-4 957 ‘STT ‘96T ‘69T ‘PrT ‘TCZT 00T ‘T8 ¥ 6¥ '9E°SZ9T 6 ¢ 'T T
=v36-4 slamsuy
\=6-4=2 Yy,

1.4 - Index laws, laws of indices

Key Concepts
1

Any number is written to the power of 1inindex form: a=a

Any number raised to the power of zero is 1. a®=1
axaxa=a

To multiply powers, add the indices: a™ x g = amtn

To divide powers, subtract the indices: am +a"=am"

To work out the power of a power, multiply the indices: (a™)"= a™*"

S

~
Examples ( Questions: (" Resources N
1 35 35 — 36+5
137X _gu Write as a single power: My Maths
2)96 = 93 — 963 —Number
=93 1) 5*x5*  2) 6*x6 3)9%+92 4)74:7* —Powers
3) (56)*= 5%+ and roots-
=5 8t x 8 4% x4 Indices 1
4)9x9x9-9° )= 6 —Q ) NEYP
5)8%°+8*=1 \. S
6)(7%)*= 7to the
power of 3x 4 afll F(9 ¢8(5 T= oLlv w6(e ¢9(T <S(T
slamsuy
N




[ 2.1 — Algebraic Expressions

Key Concepts

An expression is a sentence in algebra that does NOT have an equals sign.
Be able to write an expression given a description in words.
To simplify an expression involving addition or subtraction, collect like terms by adding/subtracting the numbers in front of

the letters.

If the terms are multiplied, multiply the numbers in front of the letters and put the letters next to each other.
If the terms are divided, divide the numbers in front of the letters

Questions \( Examples ) Resources
Simplify: 5m—7 is an expression since there is no equals
1) 7p+3q+p-3q 2) S+4t+3p-2t+7 sign. MyMaths —
3) m-8g-5m 4) b2 —7b? + 2b? Simplify the following expressions: Algebra —
5) 2ax5bx4c 6) 8m x 3nx2m 1) 4p+6t+p—2t =5p+4t Algebraic
738 g & 2) 3+2t+p-t+2=5+t+p Manipulation
12 18 3) f+3g-4f=3g-3g — Simplifying.
] ) i 4)  P+aR 2P=3P
Write expressions for the following: ) 5) 6a x 3b x 2¢ = 36abc )
9) James buys 2 packs of x stamps. He gives 7 ab
away. 6) 3 - 3b U,
10) Pat as 30 stamps. She gives away 4 packs of x 7) Sam buys 9 packs of x stamps. He adds
stamps. them to his collection of 10 stamps.
J S=9x+10 )

2.2 Finding and using the nth term

xp-0E=5 (0T L-%z=5Sl6

§(8 dg (£ vk (9 2qe0p (S Ap- (¢ 98— wi- (€ de+iz+2T(z d8(T

slamsuy

2.3 - Solving equations

Key Concepts

Use function machines to solve equations by working with inverse operations to find the value of a variable.
The inverse of addition is subtraction The inverse of subtraction is addition.
The inverse of multiplication is division. The inverse of division is multiplication

Examples
1)4x-7=1

.\'—)m—) s — 1
2<—-'=:’ P 7

Sox=2
2)4x+4=20

—>ED)-C) - 20
4(—@(—“41— 20

Sox= 4
3)3x—-8=1

—>E)-E) - 1
R <3 R +8 ROl

LSO x=3

) N
Questions: Resources
Use function machines and inverse operations to
. MyMaths -
solve these equations: AYRCALNS
Algebra -
1) 102x=10 2)3y+2=8 3)10a—-4=26 Equations
Linear —
Equations 2 —
4) x/3+2=115)2a-8=-2 6)4x—20=20 )
multi-step.
7)6c+5=6 8)14x+2= 14
J\. J
Z=x(g §=3(
or=x(9 ¢€=e(s 6=x(r €=e(c 9=A(z G=x (I
siamsuy

Key Concepts
Arithmetic or linear
sequences
increase or decrease by a
common amount each
time.

Geometric series has a
comman multiple
between each term.
Quadratic sequences
include an n. It has a
common second
difference.

Fibonacci sequences
are where you add the
two previous terms to
find the next term.

Resources

MyMaths - Algebra

- Sequences —
Generating
Sequences

Linear/arithmetic sequence:

3 43 +3 +3 43
VAR AR VA Ve Ve

+1 4 7 10 13 16...
a) State the nth term
n+1

Difference The 0t term

b) What is the 100t term in the
sequence?
n+1
3x100+1=301

c) Is 100 in this sequence?

3n+1=100
3n =199
n=33

\Yes as 33 is an integer.

Pattern1 Pattern 2

»

Pattern 3

Examples

Linear sequences

» 3 . | 2 ¥ ¥ 3 *
with a picture:
- 'l - 'b .0 - - - .
4 F *  State the nth term.
- L » - ~ »
Hint: Firstly write down the Pattern1 | Pattern2 | Pattern3
number of matchsticks in 1 P s =
each image: +
- +7 +7
Geometric sequence e.g. x3 x3 x3
'Y
4 12 36 108...

Quadratic sequence e.g. n? + 4 Find the first 3 numbers in the sequence

Firstterm: 12 +4 =5
Second term: 2% + 4 = 8

Third term: 32 + 4 =13

Questions
1)1, 8, 15, 22, ....
a) Find the nth term

2) n? — 5 Find the first 4 terms in this sequence.

b} Calculate the 50%" term ¢ Is 120 in the sequence?

TT P 'T- % (7 J1e8=uuesiusesakos 8T (2 b (9 9—u/ (BT stamsuy




[ 3.1 -Planning a survey, statistics from frequency tables ) [ 3.2- Using two-way tables, group discrete and continuous data, ]

Key Concepts Key Concepts
Bias — a biased dice is more likely to land on one number than another. A two-way table divides data into two groups, the end of each row is the total for that row. The bottom of each column is the total for
. . . that column.
Primary data is data you collect yourself. Secondary data is data collected by someone else. ! . - .
! . R . X . Discrete data is data you can count, eg number of pupils in a class, number of pets in a household.
The total number of items in a survey is called the population, a sample is usually about 10% of the population. Conti . . . .
: ) ) ontinuous data is measured and could be a decimal number eg height, length, mass, time.
The sample should be unbiased and random (everyone in the sample has an equal chance of being surveyed). Continuous data has to be grouped so there are no gaps in the groups. for the group 10 < h < 20, 10 is included but 20 is not.
The median is the middle item of data. The range is largest value subtract smallest value. The mode or modal e ~
. . . Examples \ Questions
value is the most common value. The mean is (sum of values) + (total number of values). The el showa the helF 8 ey eo/ir of poople I Size’s far ‘ O T stOns. ieednand yvovingcompetn | Dsance din) | Fregueney
Hair colour Bick | Brown | Blond ‘ Toal were W0sd<d
\ /Questions: N\ Slock | Brown | Bond | Toul e T | 3 5 0 B 0 &1 30 199 15 | Weded
BI 5 18 n wrE e
Examples 1) Mean from a frequency table Look at this set of data. Er— B;:m 7 - colour o | ¢ 7 | 2 319 207 113 241 462 73 313 714 388 20 Ned<dd
o 1 7 3 3 9 5 6 1 1 = 2 = e M the grouped frequency table Ned<s
Worked example »-ﬂ a Order the numbers from smallest to largest. 8 = skl ! 2 ! 2 b What & the modal groug? - 1
In a game a 4-sided spinner is spun 20 times. b What is the median? ; suzy:‘n: COmp\‘Cll:‘ Ir;c;‘at;l;- [ X inal 5 0031 group!
lffn:'ﬁﬁ"“ﬁffn ?;*;T‘M results. © What is the mode? ey peome e e A e e The table shows the audience at e cinema one evening. m Fomale | Tota
d What is the range? ~ ot . P ey
Score Frequency Draw a third column 1o work out the total e Work out the mean. Fm"'r"'“ ;mnl data b st th " data : ;Ei’,::: .itii ,.I‘?;jed ,Ml::m in folal? ::m E
1 4 score for the whole a list the discrete st the continuous data. i 3 I nri . W Many people & 6 (3 r i
2 3 Work out score -w;qu-'mﬁh-:-m The table shows the numbers of siblings Siblings | Frequency e BWWSFE!Z&G.MMMMWSNW&WWWWWW P
3 s of students in a Year 9 class. 0 2 = WIE e, of st s e et i ‘
Mass of a car Favourite colour J
2 3 a How many students are there in the class? 1 3 Type of vegetable M
Total 20 b How many siblings were counted altogether? 2 4 Norsowrof sibings sahio an:; n::n ::PS et hMWW‘MMNMWmm"mmmmmm‘m”m /'_\
3 1
Mean = 54 + 20 = 2.7 —(Mmmmwmwdmwwmm_ ¢ Work out the mean number of siblings. - 3 Shoo sizes e e mmm‘ ®a Resources
. . . . . < - & 2 & = MyMaths -
2) Data is sometimes organised into classes or class intervals: Afarmer recorded the mass m of lamba when they were bom I vt [ oy | 2 9 T Statistics —
T | T Total = 54841042 = 25 0 Resources N\ |50 s se e a4 et 0 o | Tt | Ko ercy z o [E] atistics
pectat =5+8+10+2 = - . 5.4 9 E 35 I . aeway i
0-9 5 ajfota 9z(q €1 (e7 MyMaths - Statistics — Collecting data - 2 oy comate ”m.:;m” T ;Z:”"j: u'u ; BT [ Presenting data
. . . > m < 4. — u
10-19 8 . v (= Sampling and questionnaires. grouped frequency table.  [30= me a5 7 P Two-way
v e b) The modal class is (P T £(q 6° b Whatis the modal class? [ e o] 40sm<45 | W 5 : S tables and
¥ etk a5 455m<50 | 1 z i
30-39 2 IZO 29f this has tr;em £9'6°C'e'T'TT MyMaths - Statistics — Processing data - [sozm<ss | 2 z wPs0Z . Grouping data
a How many netball matches were played? argest frequency of 10. (eT mean, median and mode from frequency e — b3Ssm<d0andd0sm<ds v | 0expz0r |
Kauenbaiy | (w)p seumsig | 4OMSUY
b What is the modal class? j siamsuy |\ _table. ) \_ )
3.3 - Pie Charts and scatter graphs 3.4 Write a report to show survey results.

Key Concepts Key Concepts
Be able to construct and interpret pie charts. A report should include: the hypothesis you are testing; data shown in a graph or chart; averages and range; a conclusion; what
A scatter graph shows two sets of data on the same graph. The shape of the graph shows if there is relationship, or else you could investigate.
correlation, between the two sets of data. There can be positive, negative or no correlation between the sets of data. An hypothesis is a statement you can test by collecting data.
You should choose the chart according to what your data shows - a pie chart for dividing data or showing proportions; a line
5
ﬁxamples - how to construct a pie chart: \ [ﬂ Questions: N\ graph for data that varies over time; a frequency diagram for comparing frequencies; a grouped frequency diagram when you
The table shaws the number of boys, girls and adults in a Mombors | Froquency | Angle have lots of data; a scatter graph to show how two variables are related.
Worked example "q‘ table tennis club. = 12
Draw a plé chart io show this data about the types of cars. Work out the totl number of AT oyS
S a Work out the total number of people in 1 e Clul . Girls 3 ﬁxammes . ‘\
[Typootcar | Froquoncy | b Copy and complete; Angle for 1 person: 360° + O =0 = Questions. R
] i . i Adulis ] . i . . esources
Diesal 6 ¢ Work out the angle for boys, girls and adults Reasoning Two students recorded how many emails they sent in
= d Draw a ple chart 1o show the data. 10 days. Reasoning / STEM Pelra is investigating how environmentally friendly
Hybrid electric 4 : i 1 . = — - different modes of ransport are.
. = . 2) Michaol | o 5 | & [ 8 [ B [ 1015 1617 20 Pelra says Traveling by plane is much more emvironmentally friendly

B e (B 2 NG oud 14 il mbarof ot Reasoning The scatter graph shows height above sea level Temperaturs and height above sea level meesa [ 5 (6 J6[efslelulw]nle then irevelling by car . .

Yot represents 12 cars and temperature in the west of Scotland on one day. 2 a Work out the median, mean and range for T”' table i the carbon emissions for each method of Irangport for

‘ el o e a Describe what happens to the temperature as the 5 181 X% | Michaelsdata i Theresa's data TAhs L
Typo af car height increases. g fd X x b Wrile two senlences comparing the number of emails they sent Vahicle C""::"mz':?"‘
Dlsad Ak 2 e o e wis e heading gl b Describe the correlation shown on the graph. £ T © Theresa says, ‘| send more emadls than Michael. o
Petrol Whaiply the number of each type of car by 30 to work ¢ Carole is going to climb a mountain that is 1100m high. E 8 x Do you think this is trua? Use your data to explain 0
Hybid eleciric (R R N N She says that she will be warm enough in her T-shirt E d Draw graphs to show the number of emails for each person 0

10 = 360 Is she correct? Explain your reasaning. e Coach anly 5

. a | Median = 9, Mean = 11, Range = 17 Plane only %5
0 200 400 50O 800 1000 1200 1400 Wi Median =9, Mean = 11, Ranga = 11 a Draw a graph o show this information.

Height above sea level (m) b Students’ own answers. For example: The mean number of emails Michael sent was 11 whicl b Wite two sentences comparing the carbon dioxide emissions
j s greater than the mean number of email Theresa sent. ¢ Do you think PP"ﬁ‘; S Rneul s LUkt

a carpark
Draw a crclo, and splt o sach of he anglea. N
Label wach sector and Qv your pie chart a iie. Michae! had a larger range than Theresa so Theresa's dala is more consistent d What other data could Petra gather for this investigation?
Resources \ QNu‘ Theresa has sent fewer emails than Michael if comparing the mean number of emails ¢ )
-

Hiys-1 & isn 20 PIOI GOI §1 YAYM D,0L B IM I WO0LL 1B -ON 2 L.
uoRe[a100 sagebaN q MyMaths — Statistics — =
Scatter Graphs - there are three types of correlation saseaiap amjeiadua) ay) saseazul ybiay ay) sy 7 Presenting data - Reading and e oty by 2 =2 .
x x x [ drawing pie charts. o
X X X X T
XX X [ L VO 0 UOTES 04 OF 10D O} SADIOABH, 0 GOURISIP OU) 1 U6} MOH | SOUEISI 1ol J0] SUeld AQ DUIGNE.) ) KPUBL AIRISULCANS S0 $1 160 1S Y ON O =
» !X X x ; Xy X ‘ ““:':' [ [ i W' J LUBIEIS 50 HOKIE aU) B} [OAR) 500 Bp MoK wien A Bugsnen | bt
X X x x X — fetire — {95RAIU JO 9SERIIBP O} JOFANES] UBU) SUDISSIWE BPY i Jews & Uy Bujjenes] o
¥ Sitive ¥ negative INn(D"e\ﬂnDn 0181 208 10§ : MvMEthS StatIStICS Scatter 5o SUDISSIWS LOGIED By} 1O 8poW Es | 10 Jequinu &y 380Q, SUCISSILLG posd sed ebue) v ’;
\ po & ) e ey (T slamsuy graphs — Scatter graphs. Yy, XKD 104 SKASUR WHD SISODNIS. P KRS 2. USRS TP LOQIED L) BTSSP SIGNSUR LD SWSPMI P L
- i et slamsuy




~ N
. . 4.2 - Fractions, equivalent fractions, finding the fraction of amount and
4.1 - Fractions, decimals and percentages
ordering. )
J
a4 Examples )
Key Concepts | Examples N Key Concepts Calculate £ of 65: P
A fraction is a numerical quantity Order the following in ascending order: x — i . .
that is not a whole number. & - Numerator i { BIVIde l:.w' tre Order these fractions in ascending order:
S E] 7 - +5= enominator
A decimal is a number written @é‘ % 5 62% 0.67 10 0.665 y Denominator 13 x4 =52 E l E l
using a system of counting based & © o ¥——___|Multiply this by the 5 2 6 15
@ [} o =
on the number 10. 3 _’_b % Nl xl numerator lxa lxls lxs lxz
a2, £ S Q"\) % . S 0 8 Equivalent fractions | |- 12 1% o5 14
5 i "8 g é3‘; 2 Tod = 00 R have the same value gofa number is 52, what is the 30 30 3 30
== ] £ T 3 &3 P Vi
2228 EE3 S as one another. original number?  Divide by the
E286 @25 l l Eplo2_2 5o 4‘/1—3// numerator @ @ @ @
i fg.-====— 4=
8 76 5 .4 Decimal Percentage 60% 62% 67% 70% 66.5% 4 8 1z 13% 5 = 65 To be able to compare fractions we must
) %100 ~—_ _ |Multiply this by the have a common denominator
A percentage is an amount out of _— 3 7 -
. - 62% 0665 067 — \_ denominator J
100. \ +100 10
[ ) C it the following int . Resources 1) Ca\culate%of 56.
onve e Tollowing Into percentages: _ _ . _
Resources 6 3 MyMaths - Number — Fractions 2) Eﬂf a number is 36, what is the original number?
3 04 b} 0.08 o) 20 4 25 Modelling Equivalent fractions 3) Srder the following in ascending order:
MyMaths — Number — Percentages - Frac 2)  Compare and order the following in ascending order: MyMaths — Number - Fractions — 8 8 oz 5 3 z
DecPer1land2 2 7% 072 ¥ 0708 Modelling fractions of amounts 3 6 8 12
4 5 MyMaths — Number — Fractions —
Ordering and simplifying fractions : 1 5 il 9@ or(T v suImsn
. % %9L 1; €2°0 902°0 (2 %21 (P %0€ (2 %8 (4 %0¥ (2T SHIMSNY
'y - - - - - N N
4.3 - Operations with fractions, adding, subtracting, multiplying _
and dividing 4.4 - Percentage increase and decrease
\_ J
Key Concepts ( 2 1 1 3 \ Key Concepts Galculating a percentage - non calculator: | Percentage change: Exam ples\
An improper fraction is when the 1-+2- 2-—-1-1| 1 § X 2 Z 2-+1= Calculating percentages of an Calculate 32% of 500g: A dress is reduced in price by 35% from
numerator is larger than the 3 4 amount without a calculator: £80. What is it's new price?
denominator e.g. n . X ' P i
r 5 o |Cometinoan g N - , , 10% = divide the value by 10 10% —» 500+ 10 = 50
==4- improper fraction = — — = === D Find the reupm@I 1% = divide the value by 100 30% —» 50 x 3= 150 32% =150+ 10 Value X (1 — percentage as a decimai)
Converting from a mixed number 34 3 4 -4 % 1n 3 5 # of the second fraction... 1% —»500+100=5 =160g =80 x (1—-0.35)
into an improper fraction: ‘ 3 4 Calculating percentages of an sEx7= =£52
3 4(2 x5)+3_13 20,27 F‘;‘da . 32 15 / 7.5 amount with a calculator: B —+5x2=10
2 _ - = ' + TR enominator, = — — — % ==X- ..and multiply . . .
5 5 5 1z 12 3 8 Amount x percentage Calculating a percentage - calculator: "t\ ho.u.se IIJ‘“CE appgi;??égby Sh% in 3r:’93r-
_44 as a decimal t originally costs ,000, what is the
A reciprocal is the value that _A7 v =1 =35 Calculate 32% of 500g: new value of the house?
when multiplied by another gives 12 12 24 Calculating percentage
the answer of 1. increase/decrease: . - i
_Eg.3 is the reciprocal of 8. 11 Convert back into 5 = 31 11 V(;iue X (percentage = 100) ]_/’?ZLUBUEU(lir fi %Egéage as @ decimal)
Esmhe reciprocal of > =35 ambednumber =1 1z =1= Examples Amount x (1 + percentage =500 x0.32 [y ( .08)
: p 2 \ 2z — 12 24 ) asadedmall | \ - 1608 = £129,600 )
Resources Ca]culats;: , What is the reciprocal of: Resources 1) Write the following as a decimal multiplier: a) 45% b) 3% c) 2.7%
. . ) :
MyMaths — Number - Adding and ) 12423 3) 3x13 5 1 pons ;; ga:c”:aie ;4:;‘ °:igg without e calculator
R . alculate 72% o using a calculator
subtraction fractions, - ; , MyMaths — Number — Percentages 4a) Decrease £500 by 6%
2) 3 1 1 3 4 1z 6) 9 — Modelling percentage increase b) Increase 65g by 24%
MyMaths — Number — Multiply and and decrease ¢) Increase 70m by 8.5%

divide fractions. E, 6, T, L, E z 43
7l 70 56 5l 35 T2l $7 (T v SyImsNY wse's/ (2 8908 (4 0/v3 (B 7€ (€ 8SZ (2 L2070 (2 €00 (9 Sp0 (BT SHIMSNY




5.1 —Types of angles and angles in polygons

Key Concepts

Regular polygons have equal
lengths of sides and equal
angles.

Angles in polygons
Sum of interior angles
= (number aof sides —2) x 180

Exterior angles of regular
60

p0|ngI'IS = number of sides

Types of angle

There are four types which
need to be identified — acute,
obtuse, reflex and right angled.

Examples

Acute is less than 90°

Obtuse is between 90° and 180°
-‘\
‘ Right angled is 90°

y
\

Regular Pentagon

Exterior angles

=360 _ 790
5

Sum of interior angles
=(5-2)x180
= 540°

Resources

MyMaths - Shape -
Angles — Angles 2
Lesson, Angles 3
Lesson

: 0 o . 540
X Reflex is between 180° and 360 Interior angle = == 108°
Questions
Key Words 1) Calculate the sum of the interior angles for this regular shape.
Polygon 2) Calculate the exterior angle for this regular shape.

Interior angle
Exterior angle
Acute
Obtuse
Right angle
Reflex

3) Calculate the size of one interior angle in this regular shape.

S0ZT (€ 509 (T 50T (T :SHIMSNY

5.3 — 3D Shape names

K Questions - Name each of the 3D shapes below:

pyramid) e) triangular prism, f) cone, h) tetrahedron (square based pyramid)

ANSWERS: a) cube b) sphere, ¢) cylinder, d), tetrahedron (triangular based

5.2 - Angle facts including on parallel lines

Key Concepts
Angles in a triangle equal 180°.
Angles in a quadrilateral equal 360°.
Vertically opposite angles are equal in size
Angles on a straight line equal 180°.

Base angles in an isosceles triangle are
equal.

Alternate angles are equal in size.
Corresponding angles are equal in size.

Allied/co-interior angles are equal 180°.

x =180 — (23 + 124)
x= 33°

Examples
Alternate angles are

equal

447

Resources

MyMaths — Shape —
Angles — Angles in
parallel lines -
Lesson

Vertically opposite
Straight line

Corresponding

- 120¢ f=a4° Corresponding angles
c - =180—129 are equal
x = 51°
116°
F ¢ . . .
e \ Allied/co-interior
\ \ b b angles equal 180°
LT b= (180 —116) + 2
' b= 32°
? =360 — (65 + 110 +87)
N Y,
Key Words Questions
Angle Calculate the missing angle:

Alternate

Allied
Co-interior

E| This image canig t

) A

b) ourrently be
displayed.
/57 4
o0S=} o0ET=2 0ET=P (€ o£6=0 zTI=0 (Z -05=€ (I :SUIMSNY
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5.4 — Pythagoras’ theorum
J
Key C t
ey Loncepts Pythagoras’ Theorem Examples \
Pythagoras’ theorem and basic
trigonometry both only work x 12
with right angled triangles. s y
Pythagoras’ Theorem - used to p 3
find a missing length when two
sides are known: a2+ bt=c? a1 =2
a?+b?=¢? 62 +82=x2 y2+82=12?
¢ is always the hypotenuse 100 = x? y?=122-8?
(longest side) 4100 = x y2 =80
10 =x ¥y =180
. T J
Resources Key Words Questions
Right angled Find the value of x.
MyMaths — Shape — triangle 125 ' X
Pythagoras - Hypotenuse 3l )
Pythagoras’ theorem Opposite Tm
- Lesson Adjacent

wpe's (9 woo's (B :SYIMSNY




N B
6.1 - Readi h ' ' h
.1 - Reading graphs 6.2 - Distance - time graphs
J r,
f 2y s
| Examp'es Key Concepts Reasoning Evan drives from his houwse b visit 2 friend, Hie stays theste & o s Baris house b s fiends house?
# 1 7 Garden tampacature a0-10 or @ while, and then drives nome. The distance-time graph shows s b Whal tins does Even ame s his fiesd's hoss?
KE"] pOi"’ } The q!]pr ShOws (e temperatung In a garsen over one day 5_’, ' b 23°C Kay paint m FAirnay Sy & Hinw e coes etk o e 2 e housa?
Theshapefhegaonbtyou | | | & Lookal e vertcal s What vales ve e rlcadty 87 § 030 8nd 20.00 ina dstance-tina graph, the o o g coe s ey R et
wheher quantes are ncreasing o b Wihal was the maumum temperature? i TR AL: vrtcal i epresen he defance I : :N'Ec,-g.?w,“.‘-:.r.dlﬁ.é'?-i? S
\ g : d every 2 hours from e starting pont. Tha z s Evan chiving fsie on o eay e oron thi way back
dhcteasng || © Whenwas the temperature 157 8 hirizantal s regeesants lha fme 2
[ d How ofier was Ihe temperature measureq? TakEn. 10 3 18km
| f & E .
. . b 1:45
K X J s ¢ 45 mins
‘ Quei a d 2 hours 15 mins
ﬂm"r“s \ ( \ [ Betan runs a bah, ™o fne graph shows tha depin of water in tha R e O his way there - that's when
Darlh v B 1
AR e o iy oot Ly 8 e o Bt e the grad
MyMa!hs-A|gebm Key WOI'dS :\:x:,‘[:,l«‘:vx ;;,-m o I graph, Mbelind 3-8, 1 ore ol the slstements k_ Tiima f ent Is ﬂEE‘pﬁt F
i Gfaphs ~ i [A Bothan gots » 1ha bath R.emu rees f -\ Ding isanieg Siatan wilks @ h |
% “ & Thes gragsh shows Far journsyg
Real “fe smphs i I . E i [B Buttunn gees out B bath | K‘-'"F' wordf' g ! Siolhin's oy
Fill the bath 1 ncreasing 20 27 | ¢ Bothan wrns botn tags on | o .
Decreasing g " (1D Beirian taken ot e phog. | ";Th:;t‘ Gradient g E e / U ) 40 S208U (DAL 4
Fill the bath 2 Gradient : i e ¢ (steepness) i Sl (05 ©
o T = 2700 [ F Betnan s in me bon | Gmphs < FATIETY Y MR T T ]
{sttapness) ™ Distance-time Dictance
, Time oy SHIMENY
Fill the bath 3 hs i
\ / . ) §4'23 ‘90T 58 ‘EY “SHIMSNY Enap VAN A
”
. . .
6.3 - Midpoints 6.4 - Intercepts and gradients
\
/ = . oo, -~
Key point ﬂ Worked examp|e hﬂ Key paint ﬁ Worked EXEmp'E \ Wark ot thee grachient of each fne segrent in the dagram
The midpoint of a Ine segment s a i . - ik .
i e Work out the midpoint of this (10, 7) The gntarcept of a Ine & whem & Wark out the gradient of this line.
e Ihe -3t P
line segment. Tha line y = 32+ 2 rtreegs he 8
yeamis af the point (0, 2], 5
4
. Key paint ¥ 3 Civide tha vertical dstanca by tha
: The sisspness o % ragh b caled 2 herlzontal distance. -
x (6+10) + 2 = B ———{ Add the two x-coordinates together and divide by 2. ) the gradient. 1
Astraightline betwoen two ports e g =@ Tafind the graden, wark ul row ]
ke P o Thoka (347525 { Add the two y-coordinates logether and divide by 2. ) ;:‘ﬁq s g s 012348
are in segments and not just Midpoint = (8, 5) : nad i Y R LM . aranh ages 3 units up v its acros
e e e | 9 idpoin _(Thosa are the x- and y-coordinates of the mldm)J 5 e [0 e 1(_1”' .I,i d[:f!-gicr'. 3 units up every 2 units aeross M
beginaing and end. | paralel Jradient = 3
Work out the midpont of each kne segment Waorked Example o
Resources Key Words 8 [l b ¢ ) Resources Copy and compilele the \abie of values for y = 2 + 1 1
MyMaths ¥ kol MyMaths I I L= aped -E--'Eﬂll.lllﬂllﬁf' Key Words
Algebra - Algebra ¥ 3|4 |1 [ 3] 5|7 i : ) ¥
Graphs o LIPS Lo intercept
Distance-time Line segment (B, ~2) Graphs Wher x = -1 e Subslliwsachvisgal iy =20+1.) [ 05| |4 e gradient

#i=Y (1,4) y=my+c Q-‘JH 2 +1=-3 ‘/j P —

graphs




7.1 = Dividing or sharing an amount into a given ratio

Key Concepts

An amount can be desdded into a
givan ratio

R ; Gresn
1:3

Far awery 1 rad therd o 3 graans,

A ratio can be comeeried o
fractions.

i ]
5 arerad and £ are groan.

Resources

Myhaths — Mumber —

Ratio and proportion
— Modelling ratios.

A woman has £400. She i golng to split her
menay betwaen her tweo children in the
ratio 2:3. How much does each child
racedhe?

2 .3
oy
400+5 [go)
=80

£160

240

Child 1 recerves £160and Child 2 raceives
£240.

\-.._

—_——

There ara boys and girls at a partyin tha
ratio 5:2.

There are 15 more boys than girls.
Calculate the numbsar of peopla at the

party.
Mo, of extra 5:2
Bowas (5-2]
B
15+3 _%_@_
=5
Tub %
=
= 35 people Examples

1} Aew made soms cakws. Sho made wanilla cakes and chooolate calses i tha ratio 2:9. What
fraction of the cakes were chocolate?

3} Eaty s Backy shara somd moedy i this ratio 211, Eaty recaives £10 mord thas Backy.

4} Claire and lohn share soma mony in e raths 33 Olaia roceiias E18. How mach doss

HEF rds 2} Shaia E25 in thes ratio T2
Ratio
o h ]
Divide How much do trey sach receine
Parts Joben receive?

ZI30F 0T OEFLE OELFOGLIT T 1—:“ SHIMSNY

7.2 - Simplifying ratios

Key Concepts

samplifying ratios s very
simdar to samplifying
fractions.

T simphfy a ratio find
the highest commaon
factor {HOF) of the
nurivbars in the ratio.

Thara may be morethan
pwo numbers in a ratlo:
5:15:30

R B e

Resources

KAyhAaths —
Mumber — Ratio
and proportion —
Ratio introduction

Exam

-

les

Simplify

15:20

HCF=5

Divide each side by 5 this gives
the simplified ratic of 3:4

12:24:16

HCF=4

Divide each number by 4, this
gives the simplified ratic of 3:6:4

Questions
Key Words

Simplify
Common
factor

1)6:10 2)5:15:30

Simplify these ratios:

A drink contains 200ml of orange juice
and 600ml of lemonade. Write the
ratio of crange julce to lemenade Itit's
simplest terms,

‘Write the ratio in words in the correct
order:

Orange juice:lemonade

Write the ratio in the correct order:
200:600

Divide by 100

26

Mow divide by 2 to give the simplified
ratio of 1.3

3] 4:16:32:64

SUEF T RETE SELT SHIMENY

7.3 — Ratio and proportion

Key Concepts

To calculate the value for &
single itern we can usa the
unitary method.

‘When working with best valus

in monetary terms we use;
rice

quantity

Prive per unit =

In recipe terms we use:
Weight per unit
weight
quantity

Resources

Myl aths —
Mumker — Ratio
and proportion —
Proportion
introduction

If 20 apples weigh 600, How much would
28 apples wesgh?

The racipe shows tha
ingrediants neaded to make
10 Flapjacks,

How much of each will be

Examples

500+ 20 = 30g—swaight of 1 apple neaded to make 25 flapjacks?
A% Fo= Muﬂ Iagiediea i far 19 Flaparts | flathad 1; Unitary
= o+ 10=32
Box A has & fsh fingers costing £1.40. Nigrcistots :u;!;u_:::u Fxl5-Tig
Box B has 20fish fingers costing £ 3,40, it
Which box is the better valua? sl ol vyrep G0+10=6 IE+10=26
EL4) £3.40 54 g gt e sapar B 25 = 150 Al 25 =0
A= E=— Minthad 2; & flapgacks
E _ 2 BO+2= 40 2=z
| = 0175 =£047 a0 5 = 200 15 ¥ 5= Thg
Therefore Box B s bettar value as each fish P G54 2w iE
\ finger costs bess, 30 % 5= 180 15'5=5'9tj
[ 2 Packat & Rk 10 toilat rolls cocting £3.50
Key Words Ixgrhes 1} Hovw much Pachut B haz 12 toibet rolls costing £3.60
Unitary fo e 1A R | e e whisch is battar walua for monay?
g e sk 24
Best Value I‘g; - gingarbraad 3] IF15 oranges weigh 300g, What will 25
Pmpﬂl’tiﬂﬂ L men? orangus weagh?
Cuantity
\ y Bors [ o dad g 9 beepey {7 Je8nE Bop Yanng BgaT Yaduid 300 unaj 30LE [T SHIMSNY

7.4 - Conversion of metric units

Key Concept

betric wnits of ength:
A, i, i, ki

Matric units of wekght
g kg

Watric units of capatity
ml, |

All of these units are
muatric units, Thay
will always usa
conversions of
miultiples of 10,
ag.10, 100, 1000 &tc.

=10 -+ 100 = 1000 Converting areas
'Y e 1007y
s T T P Y
E° {me} ( '.'.I'I"I/.I ! mk" { km } im 100k
3 S Ro— ll"-\___/'il N = e
et Area = Lm? Area = 10000cr*

* 10 w100 % 1000

Converting volumes

rF

xS

Examples

im 100crm
m D ]
1m 100om
Valuma = 1m? Vilume = 10000000m?

xS

Resources
MyRaths — Number —
Ratio and proportion
— Converting
compound units

Ky Words
Length
Wsight

Capacity
Metric

Convart each of the following:
al 12om inte mm

b 1783g Into kg

) 2.5 litras into ml

AI0NE 1k oW {8 wwpnes (p (wnss (7 Bwect {o wwory (= isEmsHy

d] &.8mintomm
&) 50000000m? into
f} 2m?® Into crn®




8.1 — Equations, expressions identities and (8.2 — Formulae in geometry
L] L] L3 r-
substituting into formulae. J Key Concepts Examples
Exam |'E$ ™ A fatri le = ‘Work out the area aof E'F.Il:h friangle.
K‘e'ﬂ' Concepts 1) 5ly+6]=6r+30 Isan Identpn,fas when the brackets are {br:::* ;};ahl? eht EL"
‘I"':t""“"“h'”wmll":':’ o ""':"I"-“ expanded we get the answer on the right hand side o 10em
etters, where one letter equals an 7 o . I g z I'r.rn
expression af ather letters 2) E-m_ _ls an expression since there is no equals sign : Perimeter of a — 1UIIITI
3) 3x—6=12Is an eguation as It can be salved to give a solution b shape = distance 20em
A expression s 3 sentence in _S(F -az) =
a|gebrr:that does NOT have an 4 .C Ty A Fa.rmula (invalves more than one letter and around the outside #1005 5 12 % B = Qo b (05 % 200 % 10 = 100 em® ¢ 45 % 15) x 6 =45 cm? d} (0.5 16} % 11 =88 cm?
equals sign. includes an egual sign) » - \
5) Find the value of 3x + 2 when ¥=5 "'1“'“ o
An ey [+ wherc onc sldc (3%5)+2 =17 - perimater Questions
the equivalent to the other side 6| Where A=b*+c,findA when b=2andc=3 i B Base Work out the area of each triangle:
When substituting a number info A=2+3 § d Height - 1.
an expression, replace the letter A=4+3 -
with the given value. \\__ A=7 >, &
Questions 3% Resources — m om 22em
Resources Key Words 1) Identify the equation, exprassion, identity, formula from E : Se
My Maths — Algebra— the list (3) v=u+a = My Maths — Shape
Expressions and Sahusélllzr [b) w® —Zas (c) 4x(x — 2)=x*—Bx [d) Sb E Y - Area a,.,:.p
formulae— Formula -2=13 o Perimetar = Area
Introduction to algebra dentity 2] Finel the value of 52— 7 when £=3 - of a triangle
Exprassion 3)where A= +e, find dwhen d=5ande=2 eUBG 1R TP [ A 05T (2 SHIMSNY

| 8.3 — Compound shapes | [ 8.4 - Circles

Key Conceplts 4 E}tamples
4 Y Area = i W | 7
Key Concepts Examples i msiue iz o2 =1 orked example A

Wik cadl The circumiengncs and tha ans of his cinda
v your answer 0 1 decmal placs

Diameter = 2r

find the area of or md

The area ofa 20 shapais
the space inside it. 1tls
measurad in units squared
a.g om?

Ky pain

3cm 5';m ot P T’ OF i LR F (i)
The perimeter of a shaps is X .\ A Use g = buton on your caloulato: |
the distance around the 8-3="5m et it B8

A

_ Thae Simisnce Iom tha centme i the Circumlirence = = o &
3—2=3cm ok adger o za Bed U radus

edge of the shape. Units of
langth are used to measura

The daisncs bom ndgm ko sdgm —{B-buun-d énnnr...mr.-.a_']

E . 5&. ;
et e, . dren =53+ 2x5) A i e e
A compound shape is a = 25em? Hrea = nc _I:H_E,.._, 5 —{ Subitutn the raduus imo fan foemutn A = or, |
b . 827 "
sMpEIMdequfmmm fa+dink Perimeter =34+5+84+2+5+3 = 283 cm? —[mnrlunuulm nwunu.]
jnined togethar, AmZZoiTC

\ 7 = 2Brm y, N

Calculatethe area and perimeter of each shape:

Resources

Key words
MyMaths — Shape — Area

8 For &
Questions | e cimasmierenca W the e

Key words [

cirounlsnenca, &

1) 1 :
: X Radi .
Area and Perimeter - Perimeter Jm R b
f iﬂl:rn ” M Diameter
Area of a rectangle Base I Resources Area
and trapezium Height My Maths - Shape —Area || - ' '
Width Bim Him and perimeter —Area and Circumference
\ Length WORb=d MR LB IE WORD =d QRO ITT =V Wi d ARV (T SHIMENY Circumference of a eircle

\ ANSWERS: &ad) 3744 oo 5| 45,25 em? Ski] 46.8 o 5] 176.63em?




9.1 - Probability experiments 9.2 — Sample space diagrams 3
o N Example Fo
Key Concepts r EHHITIPIES ) Key Concepts Sally spins these two spinners and adds the scores.
A sample space diagram shows TR 3N
Experimantal probability || 2 Modeling Carrie draps a botlle top lols of fimes. | Position  Frequency | &l tha possible cutcomes of two 2
fl'ﬂql.lﬂnl:-‘jl' of event 1 Iands el at sice up or Kal side down, .;‘l"'l..,l:‘l_l’.,. 12 events,
= e reconds her results in a frequency table ra-c gedmen | 33 ;
total frequen e e bl o at is the prob stting a total sc
requency a How many times did Carrie drop the bottle fop? T 5 V::h.:t iS5 the probability of geting a total score of 87
b Wark oul the exparimantal probsabdity of the botlle Sop landing s 1 € 48 910
The thearetical probabllity of an | fig side U Il fiat sice chown é 6 &3l 51815 Draw a sample space diasgram and fill
avenl is the peotabiliey of an event SKEUp : . bt | Tl B = - in the total scora for @ach outcome,
hagpening based on he number of ¢ Carrig is going to drop the botile iop 200 fimes. otnmoo - ! SSlegi7zle -
] Haw marty limes da you axpect il 1o land flat sida up? c €t Z 2 L ST QR R S TG
slelz|t § Yellow spinnar give a tolal score of 8
2a)12 + 38 =50 bi) 12/50 ii) 38/50 or|o |+ |2 g -
- czlst los ls Probability of 8 = number of outcomes with a score of 8 = 3 = 1
\ cl4xli=a2 y 2 SR ELE T T hotal aumber of possible cutcomes _~ 9 3
\ SHIMSNY | [ An of the outcomes are nqually likely. | /
Resa Calaur Uy \ J/
M ':1"::: Hﬂ Words 1 Enca spins a L-coloured spinnec SR | qu'g - \ —
a - L i - = /1 . 4 N AIOD pechs <\ F
Data- el | It —— e Key Words . BEE
Pmbahlllhl' Pl'ﬂblhi:h'li a Haw many tmes did Efca spin E:Itw = | ol Outcome I.:..I.—-::'m o
- Theoretical tha spinnar? S e https://corbettma Event o W P possih oo
Proba lfl“lwI :::';::::?: b l.'l.l|:ll.er|IJ:wr !I'u::ll.lurlll't-'lla ;‘:’L:b:blll:.' of landing an ths.com [contents{ Theoretical -m e
Introduction Bise white B B Probability o L

2 Fair
ST/ 20 OT/FE 9 OOT/E [0 OOT/6P 19 00T (2T SH3MENY Watch video 246

9.3 - Two way tables ] [ 9.4 - Tree diagrams
\ )

(. ing Alice spms fhese bwo spinners at e same Key Concepts
4 Modelling Aloe spins thess | i Exampl'h Questions Examples

] A tres diagram shows two or more evenis lames bas 36 sweets, 46 are toffee. 20 toffees and 24 chocolates have ruts.
3 Modalling Zach fips & gold coin and a Sher ooin al he Saimé Bme Coenplate the frequency tree, Click an the question mark far a hint
l!} gf?z He records i resuls in & two-way lable and their probabdities
0 Ll i ¥ :
i e er UE i L T Gan flipe & coin mnd plcia s ooloundc cand \{

How miany sweets 14 ‘({(
hitwe N NUEs?

Trims tvt-wery Labba shows her resuls. b:| 11;?5 Heads Tais Total . . D D .
| e —_ €} 22/72 Hesds | 23 0 ‘*~.._a<;'
Bl | Red  Green Gokdcoin [Tt = - 1 i T —
[Ba | 7 8 T ar 1”36 = * TN ST How many toffess | 'b‘f
BpinarA Ao | 8| 12 lﬂ] 19,},!?2 - haid e nuks?
[ Gesun F ] 1 8 Copy and complete the tabie
" b How meany limees. chd Zach 1ip the coine?
S e ey of g ¢ Work out the experimental prooatibty of geting
R TR T L chocolate
b blue wh spinner A and green wih spinner B | headts with the gold coin and talls with tha sihver con . ?
© graan win spnnar A Il tails with he goid coin i
d groon with one spinner and biug with e ofher: Discussion Do you think botn cons ane fair? \__ 7
I.\_ = § -

Resources

Resources Ke DOTEr O/E & 00T/0E {2 0oty g
Key Concepts Y . - — Key Words
Miyhdaths — Data Words | | | s o H
— Presenting When tha cutzomes of 6n Experime ; : : s oy event
data — Line et ntal T — g w3 MyMaths — Data — Probability—
raphs and two ihe krecuancies can ba shown in 8 babil e o outcome c
Brap two-way fable pra requency trees
wiay tables 1y e .
W NN EHAMENY




10.1 - Quadrilaterals

10.2 - Triangles

Key point

The properties of a shape are facts about its sides, angles, diagonals and symmetry.
Here are some of the properties of some well-known quadrilaterals,

»

Square + all sides are equal in length Rectangle * opposite sides are equal In length
] * opposite sides are paralie| + opposite sides are parallel
‘;{g{ + all angles are 90° o + all angles are 90°
¢ + diagonals bisect each other at 90° + diagonals bisect each other
Rhombus  + all sides are equal in length Parallelogram * opposite sides are equal in length
*+ opposite sides are paraliel + opposite sides are paraliel
* opposite angles are equal * opposite angles are equal
+ diagonals bisect each other at 50" + diagonals bisect each other
Kite + 2 pairs of sides are equal in length Trapezium * 1 pair of parallel sides
+ no parallel sides
+ 1 pair of equal angles Q
+ diagonals cross each other at 90°
Isosceles trapezium  + 2 sides are equal in length
D * 1 pair of parallel sides
+ 2 pairs of equal angles

Key Concepts [ Ve ’ 5_"3’"9'95,
Work out the size of angle a. Give reasons for your answer. Fluency
Name each triangle.
The anglesina The two small lines indicate that g
triangleadd up to the sides have equellengh, 50
180°. the triangle is isosceles,
The anglesiona
straight line add b (The base angles of an wosceles tnangle are equal)
up to 180°. a=180" - (2 x 68°)  (The angles 1 a triangle sum to 160°)
= 180" - 136"
Resources (" KeyWords Questions
Work out the size of the angles marked with lettors
b b | ¥ c
MyMaths - Shape - Isosceles i ﬁ,__“ /
2D and 3D Shapes— Equilateral " AW ™
Properties of triangles Right angled
% Scalene 2u3(e3% {0 pofBos iy 2 (esie) b3 {g serasca y LS [P L85 [ DTEIE 0L{ SHINSNY

103- Enlargement

10.4 - Congruent shapes

Key point ﬂ
An enlargement is a type of
transfomation, The seale factor

fells you how much i enlarga the
ahape by,

For example, 1o enlarge a shape by

factor 3. Whal s 1he new Iunglh and wiglh?

Worked example

scale factor 2, muliply the lengths of of enlargement.
aach skin by 2

TN
Key point #’

Enlargement producas similar
shapes. The angles and proportions

'(Real A photograph measunng 15cm by 10cm is enlarged by scale

Enlarge this triangle by scale faclar 3 and the marked centra

4

Mulliply all the dstancas from i cenire by th

scala facior, Count the sguares from the canine

of enlargemant:

+ T fog vertes of the tiangle ehanges fram
2 righlta 6 right.

v The botiom befl veriex changes rom 1 down
and 1 right 1o 3 down and 3 right.

ara the same.

Resa

urcess Key Words Questions

MyMaths - Shape Real A photograph measuring 15¢m by 10¢m is enlarged by scale
~Transformations || Scale factor : idth?

rans i factor 3. What is the new length and width?
- Enlarging shapes Centre o

enlargement

1 () U L2 Gp CHIMENY

Key Concepts |/ Questions A
Congruent shapes
are exactly the Match up pairs of congruent triangles (l.e. pairs that are the same shape
same, and size).
Reso
urces .Pl 5 ’? | ..--‘-:' 'E 9
MyMaths = 5
Shape - 20 é W
and 30
Shapes -
vanges E? A
triangles. 4 4 30
3 o
-

—

SHIMENY




